b AWB4 -1y

12,5 mm

T, =
4 W
” =
0.4
3,5
Fm
o U
8|

12mm

s %@z




— —-Y

— —-Y

J G

Bt

—

!

D)

»

2 )

N )

Ces

2

Z——=

W2/ WR3

L

L

WgR4

L

i T (T
37 -42 | 3x M6x50 120
42 - 47 | 3x M6x55 125
47 - 52 | 3x M6x60 130
52 -57 | 3x M6x65 135
57 -62 | 3x M6x70 140
62 -67 | 3x M6x75 145
67 -72 | 3x M6x80 145
72-77 | 3x M6x85 155
77 -82 | 3x M6x90 160
82 -87 | 3x M6x95 165

i JAAAULRRARARAAAA o ——
37 -42 | 2x M8x55 + 1x M6x55 120
42 - 47 | 2x M8x60 + 1x M6x60 125
47 - 52 | 2x M8x65 + 1x M6x65 130
52 -57 | 2x M8x70 + 1x M6x70 135
57 -62 | 2x M8x75 + 1x M6x75 140
62 -67 | 2x M8x80 + 1x M6x80 145
67 -72 | 2x M8x85 + 1x M6x85 145
72-77 | 2x M8x90 + 1x M6x90 155
77 -82 | 2x M8x95 + 1x M6x95 160
82 -87 | 2x M8x100 + 1x M6x100 165

MA 3373 p1312004e054 AX02 2020/01 7515911

dormakaba Austria GmbH
Ulrich-Bremi-StraBBe 2
3130 Herzogenburg
Osterreich

T: +43 2782 808 O

www.dormakaba.at

Technische Anderungen vorbehalten

IM_Serie 700-750-800-850.DD.S_202001_multi

dorma
kaba




